Name ________________________________________________Date _____________Period_________

Writing Equations Mixed Practice
Use the given information to complete the missing representations.
	x
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1.   Starting point: (0, (6)
 Slope: 2 
	x
	y

	0
	

	1
	

	2
	

	4
	

	6
	


2.  Starting point: (2, 3); Slope: (3


3.  Equation: 
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    starting point: ________   m = _____
	x
	y

	-3
	

	-1
	

	2
	

	5
	

	7
	


4.  Equation: 
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   starting point: ________   m = _____


5.   Graph the points in the table.



6.   Graph the points in the table.


Rate of change:  __________ (slope)


     Is the line increasing or decreasing? _______________


Where does the line cross the y-axis? ________ (y-intercept)





Equation of the line: __________________ __


Where does the line cross the x-axis? ________ (x-intercept)





Rate of change:  __________ (slope)


     Is the line increasing or decreasing? _______________


Where does the line cross the y-axis? ________ (y-intercept)





Equation of the line: __________________ __


Where does the line cross the x-axis? ________ (x-intercept)








Rate of change:  __________ (slope)


     Is the line increasing or decreasing? _______________


Where does the line cross the y-axis? ________ (y-intercept)





Equation of the line: __________________ __


Where does the line cross the x-axis? ________ (x-intercept)








Rate of change:  __________ (slope)


     Is the line increasing or decreasing? _______________


Where does the line cross the y-axis? ________ (y-intercept)





Equation of the line: __________________ __


Where does the line cross the x-axis? ________ (x-intercept)
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Rate of change:  __________ (slope)


     Is the line increasing or decreasing? _______________


Where does the line cross the y-axis? ________ (y-intercept)





Equation of the line: __________________ __


Where does the line cross the x-axis? ________ (x-intercept)
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Rate of change:  __________ (slope)


     Is the line increasing or decreasing? _______________


Where does the line cross the y-axis? ________ (y-intercept)





Equation of the line: __________________ __


Where does the line cross the x-axis? ________ (x-intercept)
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